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There are 3¢ questions in all in this section.
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fA‘)c"”r‘)’\"ﬁ disability that involves difficulty in handwriting is called
(C) D“(;leah (B) Dyscalculia
) VS 1a ' ’ » . .
N g ; ) (D) Attention deficit hyperactive disorder
§ O i fosmermmn faed fonarae § s wfie 2 Frema 2 ;
A Tesframy B
, (B) Terrempfom
(€) femnfem (D) wm 3rg wteEtEa e
Which one of the following is related to summative evaluation ? ,
(A) Provide the teacher with continuous and immediate feedback about student’s =+
progress.
(B) Focuses on molecular analysis of instruetional material.
(C)  On-going of systematic assessment of learner’s achievement.
(D) Terminal assessment of the leamer’s performance at the end of the session,
= 1 | 19 W U dmens gedteh | dafua 2 7
(A) F1egTye 1 B &yl & an 3§ fa il aene wfafrn vem = |
(B) Torem wnht & srorfaes feavcaor gr $fga |
(C) Tinereft < 3yerfey =1 sman swafem smem ¢
(D) &3 % 37 | Ferefl & wevia @ sifew smeer |
Howard Gardner says that there are many specific types of intelligence or frames of mind.
Which one is i category of intelligence as suggested by him ?

(A) Analytical Intelhgence (B) Creative Intelligence
(C) Naturalist Skills (D) Practical Intelligence

Q Frae e 1 e 2 Fob E war ) gfg an fem 3 S A 2, 39 g gad v afg A ot
Ak ) = |
(A) Tageromass (B) TS
(C) SepfaaTd) e (D) =R g
In our country many children speak more lhqn one language. Find out from the following,
the correct advantage to children who has ability to speak two languages.
(A} Facilitate concept formation (B) Facilitate analytical reasoning
(C) Facilitate cognitive flexibility (D) All‘ the above -
% g 2y A 3 @) v & aifvres o e 8 | B S 8 g e, 3 e i dens 6 g
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gt teacher in the classroom is doing some activities like : (a) asking not only what happened
ut also “how and why", (b) helping them to compare various answers to a question and

Judge Which is really the best answer. From thinking point of view, through these activities ;
he is trying to promote : ' ‘
(A) Analogy (B) Cntical thinking

(C)  Integrative thinking (D) Concept mapping

T eI e ¥ g nfafafy #w R, 3 () 7 e 97 7@ w0 R F gon afes 98 of
t@ﬁi‘%ﬂsﬂtaﬁ',(ﬂﬁ@m%ﬁrﬁ:mﬁmmﬁwmﬁmmaﬁ
AT R G e w@ 2, 39 R @ a7 wgE 2 6 AR E

(A) EaEaT (B) smrefr==mars 9"

(C) vdhipa ur (D) 3w gt

6- 18] 1 ¢ S i i {
- P?SI.txve or negative stimuli or events that can motivate a student’s behaviour. Which
psychological perspective explain motivation in this way ?

(ﬂ%) Humanistic (B) Behavioural
(C) Cognitive (D) Social

| \maﬁtmﬁmﬁmmﬁﬁm%maﬁﬁ&amm%lmmmﬁéﬁﬁm
afied 39 TE & Svon e w0
(A) »Hra@TEE (B) =5a@n,
(C) HFHTEHS (D) wETS®

7. Theterm inclusion means educating & child with special educational needs in the
regular classroom, e

(A) most of the ime (B) full ime

(C) some time (D) notume

YA 915G 1 Haor, T st sravaear ae =11 91 Frafira samsa § Rifig
T | W |

(A) g3t guy / (B) a9

(C) T8 YT (D) Teredt =
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8. A language teacher teaching a'poem in the classroom by explaining the details of the poem

and asking the studerits to draw conclusion or broad view from explanation. Itis an example
L]

of
(A) Inductive reasoning (B) Deductive reasoning
(C) Concept mapping (D) Hypothesis testing
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+ . Psychoanalysts bejjey ' ’ e e e et

id”. It is e e € that there is 4 Primary means by which the ego “keeps the lid Siiihe

(A) SUpcr Ego

(C)  Conflict (B)  Pleasure principle

HAfervetyr o R (D) Repression

FHETAT R - g “W%vmmEgO"ldwsnﬁamé"lﬂ

(A) g i .

(B) 3t firgr
) &=

(D) <ama

¥
10. lntroversion-Extraversion trait of personality is propounded by
(A) Hans Eysenck (B) R.B. C‘.atilc

(F) Gordon Allport (D)  Carl Rogers
uagem—i%gamwﬁmmawﬁw%mmﬁa?;
(A) & i _ (B) .t Fzw
(C) 7IEF 3meiaré . (D) el Tod

I Which of the following best exemplifies what motivation is ?
(A) Student “A™ is emotional about the upcoming school year and wants to.do well.

(B) Student “B" is energized. sets a high goal for doing well in his maths class, persists
g. o S e o
with considerable effort. and score highest in ¢lass.

(C)  Student “C™ is good at directing his attention to what he wants to accomplish,
(D) Student “D™ works hard. experiences positive feetings about her academic work.
Fre 3 2 o wrftem e  f om 2 2
(A) BT 3 3Pt Ther 9 & W1 H 9IgS 2 31 e e SR |
((B) B = w8, 3 i ol H srem w3 % e 3w wew Fuffa o 2, w06 wm
¥ Y W EA 2, 3N HET § IH=AW 3 T FEATR |
(C) BT “B" a8 F1 W HTH W 8 T 391 o4 Fraform o o arem 2 |
(D) B 2" %L N A 2, 35 Mireh % T an & weprrees Wit w5 v e 2 |

12. If extrinsic motivation is a means to an end, then intrinsic motivation is

(A) abeginning (B) anendin itself )
(C) a beginning and end (D) None of the above
o s o o 0 6 7 7, e ?ndiresul:c.in whatsapp - 9352018749
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13. A systematic science which provides rules, laws and principles for achieving adjustment
with self and the environment is called ,
(A) Motivation (B} Mental hygiene “
(C) Leaming (D) Conflict

U sHafeya fasm &t @ 3k SR F 91 e B g 9 % o e, s ek

forgra wem a1 2, Feeman 2 -
(A) atfyson .- (B) feurft anrean

(C) aiftrm (D) g%

14. One of the adjustment mechanism involves thinking logically and socially, in approved
reason of past, present and proposed behaviour is called

(A) . Compensation (B) Rationalization

(C) Regression (D) Repression

U WA 79 § 3t i s swafie sraen st won | aries s amaiies
w9 | HreAn wifier B, wEenar 2 -

(A) et (B) uitigso

(C) gfemm (D) THA

15. Organization set-up of the school influences learning of students. This factor belongs to
which category ?

(A) Physiological factors (B) Psychological factors'

(C) Social factors (D) Other factors

TR 1 FIGACHD WA Tl 5 S i Hft 2 | o a3 ARt & gl 2
(A) Traems#ms (B) ., HAIATII® FHe |
(C) "mIfss srs (D) 3 FWH

16.  Which of the following condition promotes adjustment ?
(A) Acute anxiety (B)  Obsessive thought of gurlt
(C) Fear of illness (D) Free from neurotic fears and anxiety

o feferal o & 1 ot = wgrn 20 2 ¢
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As a teacher you asked vour students TARTNES

. - e r 0 write an s . it Hhe ,
on our htt, “h!L‘h cognitive (c\;d E55 L\m.llﬂ!u: the finpact of P‘.'”th‘:

ol Bloom's tuxonomy 15 best Husirated by this

assignment ?

(A} Analysis

) € ly\l.s ) Bl Apphecation
) omprehansion (D) Knowledge

?ytmﬁmmmammmmamwmgwﬁww
T | 6 HIR R =R ariteww & o A g e A e £ d
(A) Terverau (B) @M

() wow (D) IH

l::h a tf:achcr}-o'u have cqllc;:ted mfonn;,nu_m about intelligence. personality qnd classroom
behaviour ot a student by using appropriate test and check-list, This process is called as
(A) Assessment (B) Mensurement

(C) Evaluation (D} Al the above

forere & A 90 39 v IwgE vl i wte g @ TwEn e g 6 g, St A
S SR % A A FHwH U 2 | g wfEw weend §

(A) ATHEA (B} ®MA

(C) HearsA (D) 3Fwires @i
Which domain is not named 1n Bloom’s taxonomy 7

(A) Cognitive (B Conative
(C) Affecuive (D) Psychomotor
w7 w1 w8 = F @i d qifw T#f 2 7

(A) EFETHSE (B) Toramers
(C) WTETH® (D) A

Which one of the following is not a guiding panciple ot Natonal Carnculum Framework -

20057

(A) Connecting knowledge to life outside the school.

(B) Making examination more flexible and ntegrated inito classroom life.

(C) Leamning should facilitate the rote method

(D) Ennching the curriculum to provide for overall development of children rather than
remain text book centric. ' o

P & S E1 T wgEal 2005 @i A Aviesies fagm T R 7
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21. Inttially 4 baby grasp the object by using his whole palm. Gradually as growth ang
development continues the baby uses finger and thumb to pickup the object. This type of
Progression 15
{A) Cephalocaudal progression
(B)  Proximodistal progression
(C) Mass 10 specific action progression
(D) Random progression
;J“i‘!?m Ff gt werel 1 Iw S F 0 wwe B | it it gf st R F e

= Inferal 3t SR w1 s e #1 3ER  fore e @ | 5 wER B R R -
(A) Tt mfy
(B) vitemifees yify
(C) =y @ fafime sk gy
(D)t ynfy

22. Deve_lopment in child is often divided into three broad domains such as physical, cognitive,
emotional and social. So far as developmental process is concerned these domains -

(A} develop independently without influencing other

(B) develop in an integrated and wholistic fashion

(C) develop partially

(D) develop randomlv

o= & e 1 s i, davrers, wraares shoamtie ¥ A s 8§ Rnfe
Toran wren R | e whtwen 39 &= o ol 9w vafm @ 7

(A) mﬁwﬁaﬁqﬁmﬁa’amﬁﬁf\&a
(B) U wdhiga it wm v d R (L

(Cy wifdres =9 & fasfim
(D) Wavde g & fowfia

-
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A child who is high or low in a characteristic (such as verbal ability) will remain so at
later ages. This statement stress the importance of

{A) Early expenences (B} Environment
(C) Heredity (D) Both Heredity and environment

“ﬁ,;}ﬁ;@ﬁm(ﬁmmﬁﬁmﬁni.mﬁwﬁmm | 9R
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24.  The law of use and disuse bearning is also calied 4

(A)  law of effect (B)  law of exer

( . \ L CXeroIsy
(C)}  law of remntorcement (D) None of these
Mﬂmmmmﬁmﬁmmmi

(A) s % oy By o w frgy
(C)  wwer &1 fagm (D) M 8 wrd

25. In Paviov's experiment the dog salivated not only when meat powder was placed directly

in his mouth, but also well before that 1.c. when heard the trainer’s footsteps coming down
the stairs. This phenomenon is called as

) . Extinction By Uncondinonal stomulus
(C } Conditioned reflex (I3} Readiness
IR 3 S, e e i v & w d e v | e e 2, R v v
(y 3 @ Wit & A 3 et sfeveres 5 e ) s g & | o s wm I R
(A) famms By T ol siearem

Fagiem A (D) wew

26. Cognition develops through the cu;mana process of interaction between the child and the
environment. This pnaciple s reflected n
(A) Thomdike s lcarming theory (B)  Piaget’s cogmitive development theory
(C) Tolman’s signal learning (D) Kohler’s learming theory

I w 3ih e & e s few © e e % aom @ fesfi 86 2 | fega
& wfafiifem st 2

(A) HiHzEs i fagm By forard s e fogim
(C) A gaa s (D) wwen s fagm

27. In Piaget's theory a process which is the halancing act between the “old™ and the “new” -
between perceptions and expenence known as
(A) Assimilation iB)  Accommodation
(C) Equilibration (D) Knowledge disturbance
fyars & fagia 4 v wiwa 31 g 3T - a3 sve & de e e, I
IR " indiresult.in whatsapp - 9352018749
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Which of the following is not a precaution for using intelijgence test ?

(A)  Avoid unwarranted stcrcntypés and negative expectations about students based oy g
scores,

(B) Individual assessment of intelligence is a structured interaction between the examung
and the student.

(C)  Don't use IQ tests as the main or sole characteristics of competence.

(D) Be cautious in interpreting the meaningfulness of an overall 1Q score.

ﬁniammmm%fmmwﬁmwu

(A) 3 g i &5 i w0 srgfer whgandh sik o & wi & T e @ ww
(B) A& %1 =uforrma smeer wleres 3 om % dr ve g et @ |

(C)  wwan 1 v 31 wawmrs fdtwenaii % wv i sé oy wlwol 1 3w 3 %@ |

(D) o wun 3¢ 9 Wi ) refem i sme i geum @ |

-

As per Erikson, psychosocial development of children occurs in Eight stages. A student of
class 111 (around 9 years) corresponds to which stage of development ?

(A) Autonomy versus shame and doubt(B) Industry versus inferiority

(C) Initiative versus guilt (D) Intimacy versus isolation

e & igan, s o wEamte R 3 il § B | o s 3 w5 e (9 | %
e -ure) fama & frw w0 @ S @ @ 2

(A) vl @am w2r & qareet &) wgam

(B) s & dieen

(C) Aqea 94 390y

(D) FaUTa €98 Herma

Which of the following statement is not true for norm reference test ?

(A) It is a standardized test,
(B) Student’s score is interpreted by comparing it with how others performed.

(C) Testis said to be based on national norm,
(D) Student’s performance 1s compared with established criteria.

frey i & @ W YA aned wefifa vl & fog w TR
nmmmg I indiresult.in whatsapp - 9352018749
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ENGLISH

There are 30 questions in all in this Section

Al guestions are compulsory .

Which question is co ’ -

iuestic ITECt 1n 1S structure

(A} Why did she write the letter 7 IH. 'IEE“ o

32.

=
T
.

¥,

(B)  Why did she wrote the letter ?
(C)  Why did she written the letter 7
(D)  Why had she wrote the letter ?

“She speaks English fluently.” The correct passtve form of the sentence will be
(A)  English 1s being spoken by her fluently.

(B) English has been spoken by her fluently.

(C) English is spoken by her fluently,

(D) English was spoken by her fluently.

Which of the following contains the words beginning with the same consonant sound ?
(A) Chicago ~ Chorus (B) Chenish - Charisma
(C) China - Chrome (D) Check - Chain

Which of the following contains the same vowel sound ?
(A} hook - brook — luck (B) cat -~ bat - mat
(C) win— we-— see (D) lead - leak — break

Choose the correct phonetic symbol for the underlined sound of the word ‘boy’
(A) /bl (B) /bae/
(C) /bom/ (D) /ol

What is the praper order of language leaming ?
(A) Listeming, Speaking, Read%ng. Wﬁtfng
(B) Listening. Reading, Speakmg.‘ Wnt'mg
(C} Reading, Wnung, Listcnmvg. Spcakfng
(D) Reading. Listcning: Sp.cakmg. .erlmg
indiresult.in whatsapp - 9352018749
is applied in order to choose a particular course for a particular class.

(\ )‘» The Principle of Motivation
(B; The Principle of concreteness
The Principle of proper order

(C) )
* () The Principie of selection p.T.0.
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38, “’]’ﬂCh zstheclassxcal mcthod(sftcachmg Enghsh ? an EUCCOSE FPARTMEAN

{A) Direct method (B) The Grammar — translation method

(C)  Bilingual method (D) Audio lingual method

39.  Who developed Bilingual method ?

(A) Dr. West (B} Prof C.J. Dodson
(C) Prof AS. Homby (D) Prof. Jesperson
40. In which approach does the teacher introduce the new words incidently in the class ?
(A} Structural Approach (B) Multlingual Approach
(C)  Situational Approach (D) Multimedia Approach

4. What is the purpose of wniting at Elementary level ?
(A} Development of motor skills
(B) Discimination of the words
(C) Taking notes
(D) Initiating conversation

42.  Which technique of reading is used to look for specific prece of information 7
(A) Library reading (B) Skimming
{C)  Oral Reading (D) Scanning

43. Which is 'Look and say’ methed of reading ”
(A} The Alphabetic method {B) The Phonic method
(C) The word method (D) The sentence method

4. ____ has the advantage of providing a focal point of attention for the whole class and
can be used for a variety of purposes.
{A) Picture charts (B  Film stnps
{C) Blackboard (D) Shdes

45. Which 1s NOT a characteristics of a good text book ?
fA) Adequate subject matter (B) Suitable structure
(C) Switable vocabulary (D) Frequently misspelt words

46. Which test is conducted in order to find out the students leaming regarding the
discnimination of sounds ?

{A) Reading test (B) Comprehension test
(C)y Listeming test (D) Wniting test
¢ indiresult.in whatsapp - 9352018749
47. ______ ‘ests can be scored Quickly and consistently.
(A) Objective (B} Productive
* () Subjective (D) Primary
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55, Fud om the word from the text which means “An event for pabhic enterfummeny o
trade’
(A} Shnp (1) Toys '
(€ Faw (D3 Merey-go-rounis |
Passage (Q. No. 56 - 60) A

The state police went 1o Rastapal village on 1% June, 1'47 1o close the schood swhich wa

running i the house of Napabhai Khant. Nanabhai refused to close the school The pahee they
beat up Nanabhar severely. He fell unconscious. They took him away with them to mmprsi
However, Nanabhat died of his injuries on the way betore the police could reach thesr camp
After this the police beat up the teacher Sengabhar Bheol who had continued 1o teach the
children despite Nanabhat's death. Afier beating Senpabhai the pahice ted ham 1o thewr truck
They took him away dragging on the road. A student of the school named kalibor could not see

this. She ran towards the truck with a sickle 1o cut the ropes and free senpabbiai The police

wamed her not to rmn after the vehicle bt she did nor Bisten to them She reached her teaches

and cut the rope with one stroke of the sickle

S6,

58,

59.

60. Which of the following options has a determiner 1n it
(A) The pnln_cc (B)  then beat up
*(C) ook him away (MDY He fell vnconscious

The words *Sickle” and *Velncles' are

(A)  Adjectives {B)  Adverbs

(C)  Nouns (D) Propouns

“The police then beat up Nanabhai severely " The verb — “beat up’ 1« 1

(A} Simple Present (B)  Simple Past

(CC) Past Perfect (D) Present Perfect

‘She reached her teacher and cut the rope with one stroke of the sickle.” The serh - “cut’ 18
in -

(A) Simple Present (BY  Simple Past

(C)  Simple future (D) Past Perfect

Which of the following has the three degrees of the adjectives i their corret form

(A) Angry - angner - angticst
(B)  Angry - more angry - most angry
(C)  Angry - more angnily - most angrily
(D) Angry - Angener - Angeriest
indiresult.in whatsapp - 9352018749
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There are 30 questions in all in this Section.

All questions are compulsory.

The battery has

(A) came down (B) gone down
(C) run down (D) ran down
Curtal sonnet is

(A) tourteen line poenr (B) ten and a half line poem

(Cj thirteen line poem (D) eighteen and a halt line poem

A lament for the dead 1s a feature of
(A) Ode (B)

Elegy
(C) Sonnet (D)

Drama

A fictional prose tale of no specified length. but too short to be published as a volume 1s
(A) drama (B)

(C) novellas (D)

novel
short story

‘Conflict’ is a feature of

(A) poem (B) story

(C) drama (D) novel

Identify the word in which the end sound is different from the other words.
(A) sleep (By reap

(C) teach (D) deep

Pick out the correct transcription of the word *garage’

(A) /guraj (B) ganz

(C) giraz (D) /Gaera:z

indiresult.in whétsapp - 9352018749
Principle of Linking with Life in teaching of English involves
(A) Use of word structure '
(B) Use of semantic structures of English language in daily life
(C) Use of building structures in daily life

* (D) Use of graded structures of English language in daily life situation
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In Communicative teaching teacher promotes commuifcation by

(A)  Creating situation (B) Teacher’s talk
(C)  Bonding of alphabet (D) Creating nervousness

Linguistic Competence refers to .

(A)  Communication knowledge of grammar

(B)  Communication knowledge of vocabulary

(C)  Capability of knowledge

(D)  Communication knowledge of grammar and vocabulary

The challenge of Acquisition Poor Environment refers to
(A)  Learners learning of literature

(B)  Poor study habit

(C)  Pollution in English language'

(D) Limitation of learning English language in classroom

One of the main barriers to listening skill is
(A) Time & Dime (B) Barricades of class
(C) Learner’s prejudice (D) Unscathed Ear

Remedial language teaching is meant for development of
(A) Particular skills left by regular teaching

(B) Areas left by regular teaching

(C) Limitation of class size

(D) Both (A) & (B)

Remedial work for spoken English involves
(A)  Drill and studying

(C) - Going through situational practice
(D) Revision and practice
indiresult.in whatsapp - 9352018749

Communicative approgach to evaluation emphasizes
(A) Importance of meaning of ytteran
(B) Importance of form and structure
(C) Importance of evaluation

(D) Importance of learner

ces rather thap form ang Structyre

\ @noresus

A
E
2

2

.




L]
indiresult.in whatsapp - 9352018749 @ :
INDIRESULTE

§T-1 (45) BUR BMCENBE FARTMES ¥
76. The intqgral approach of l.anguage testing involves testing of

(A) Primary language (B) Secondary language

(C) Third language (D) Language in context

77.  Elective Approach to evaluation takes account of
(A) Approach to class
(B) Communicative approach
(C) Structural approach
(D) Combination of communicative approach,
approach

integrative approach and structural

78. Remedial teaching should be carried out on

(A) Identification of sentor leamers

(B) Identification o f early learners

(C) Identification of late learners

(D) Identification of malady on language test and its causes
79. During preparation of test paper teacher takes care of item development according to
{A) Nominated evaluator
(B) Instruction objectives
(C) Numberto copies to be distributed 7

(D) Seating arrangement

80. In Remedial teaching concentration on trouble spot is best done by
(A) Arranging intensive practice (B) Arranging medicine
(C) Aranging trouble (D) Arranging bubble spot

Passage :
Patriotism or love for one's country is one of the noblest sentiments of man. It is love that comes

from one's gratefulness to the land where one is born, the country that provides everything that
makes life worth living-food. clothing and shelter, families, friends and the way of life of its
[ people. Or. in other words, it 1s our country that gives us all that we enjoy and.all that makes
man’s life different from and richer than that of all other animals. That is \;'hy patriotic feelings

are natural to man.
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81.  Which one of the following is the most appropriate title for the passage ?

. (A) Patriotism (B) Love for country
«C)  Noblest sentiment (D) Patriotic feelings
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| 82. In the above paragraph ‘in other words nvndfxcate"miltiorl
j (A) emphasis (B) * reform
et
f (C) Sequence (D) Additio
: ‘ h
P marcii.
| 83. The captain as well as his soldiers ready t0
(A) is (B) are
(C) were (D) has

84. In the above passage the author wants {0 cONVey
(A) sPatriotism is second to any other sentiment.
(B) Patriotism is not natural.
(C) One must be patriotic to an extent.
(D) One should be grateful to the land where on¢ is born.

85. People who buy stocks are no different from people who bet on horse racing. They both
risk their money with little chance of making a big profit.

Above lines contains

(A) the fallacy of hasty generalization.
(B) the fallacy of false analogy.

(C) the fallacy of composition.

(D) the fallacy of equivocation.

86. What two words are typically used in the construction of a simile 7

(A) for, against (B) with, as
(C) like, as (D) while, during

87. Which of the following lines contains an example of assonance ?
(A) The sleet streaked her sneakers.
(B) The angry dog barked loudly.
(C) The clown caught the kid before he fell.
(D) This is how the world goes.

88. What device is present in the line ‘The Wind whistled a high and lonesome tune’ ?

(A) Irony (B) Personification
(C) Metaphor (D) Alliteration
89. The sentence ‘The lazy lizard lounged near the lake’ js
an e ‘
(A) Metaphor (B) Alliteration Nemple ot T
(C) hyperbole (D) Paradox
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(C) B sctl st 4y Hesed
(D)  £3% clRil 2id Heuls
70.  Alniiall 568 Gl olins S8 531 us ?
(A)  <dl uieindl 23 (B) IEL ALl UHY
(C) UL YUAL WG 53 (D) Mg SlAeuL 53
71, 2Ll el sui o Slaiea wsnl 531 used ?
(A) HAR-5UA (B) suA-diuA
(€) HBl-diuA (D) Qv
72, olnsH sy Slueu el Be [sd 6 7
(A) i (B) @wi
(€) a8t (D) suA
AL Rzt AaiBis A Wall 2Aleg dizd M 7
(A) 2 (B) we
(C) sl (DY sl uluy
74, sEesHl AR 58 ettotd-Al Wuda ue b 7
(A) R (B) *Re
€) (D) elldunt
75, AA-niell A4 ugG ctnsa el wlew sziaaell s e llwdl ¢
(A) @vui (B) su
(C) Al (D) HL
76. HeUisi-l sl &g Al Ml S 9
(A) oumsu-t'(.l useell (B) ¥l Rifs
(C) FvusRqd st (D) Riets-l suona
77, SWARAAM QAR 58 oot ofl A4 57 24 9
(A)  SUZNUSGRASAL 2t 1241y (B) sl el
s, (O sl Rarlaa (D) Sl el GulaL
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79, AAAIR 54 HA SR GUvEH| aypy e, HeuisH Wall ay Wl 2 ¢
(A) Picnaadl

o (B) wrqeadl
(€) FRolusz-L (D) 25 orauoll

80, Bl Mt 2450 581 eletett gy s Slacend] it WBAd-R 53 SR 5€1L ©
(A) wHbrs B) Uk

(€) wAldsuls (D) “RERer-

AR 2ANE BRI PR WHEHIS BT 2| 85 A aveyioq 240 -

Az B8 W FReelloll Wiz Bl SRR B, ¥ ool et S @A dls wua s Ba we
6 AL €1 R A Alzofsett e Uor 4z o ey 6. U oitdl 918 S UR AU 8% oM B d
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81, “dl2os B i el Wiz [ B 6.0 asmedl $BuR 106 54 UsRAL 10E 6 ¢

(A) dedH (B) gd
(C) &l (D) &4
82. (el uosl Ak 2l wst
(A) &+ =zl (B) [a+ 2l
(€) [Ea+ =l (D) (e + 2l
83, Alzogsl Ha e R ¥ @A 6. — L EAHEL UL 10E B 1
(A) Alzois (B) &l
(C) Mo (D) &

84, Sidordl sl Rt s2a izl 2 AR v 8. A 2llE wedi e 9

(C) =6l (D) 4R
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91.

92.

93.

(A) T 12,000

(67) -

MATHEMATICS / nforg

There "
are 30 qQuestions in all in this section.

All questiong are compulsory

Wavsig;asomél
¥t e P #

If cost price of | : ) o ' )
equal tg o1 12 ponsis €qual to selling price of 16 pens, then profit/loss in percentage is

(A) 25% profit (B) 25%loss

(C)  40% profit (D) 40% loss
@,a&]zﬁ:ﬁmmt{amﬁ:ﬁasﬁmm%m%,aﬁm/ﬂﬁwm‘““%

(A) 25% @My (B) 25%=fy

(C) 40% =y (D) 40% &fy

Mr. X has a certain amount, He deposited in bank some amount at simple interest rate of
10% and rest amount at 12% rate of simple interest. One fourth of first amount is equal to
the one fifth of rest amount. If total interest is Z 2 .500 after two years, then total amount

mnvested is equal to

(A) ¥ 12,000 (B) 11,000

(C) % 11,250 (D) % 11,500

i X % o O Fifvea i 3 | 3e %w afit 10% weer s ) e S ot 9w i 129

HTE ST <1 X F o 1 U | yuw e e R, S oftn ¥ vied e 3w

® | 3fe gt ol & &1 et =47 2 2,500 F A 91 ) 718 et oty v R
(B) T 11,000
(C) T11,250 (D) T11.,500
3 litre mixture of water and sugar has 40% sugar. If | litre water is added in this mlxture
then sugar percentage in new mixture is equal to
(A) 25% (B) 30%

(D) 40%

(C) 35%
gt 3tk T % 3 ofte & s 7 40% whU B |lﬂﬁ|han§(qm5§3%g?§,mm
2, at 72 foygor i sy 7 wferwra e @ Indiresultin whatsapp

(A) 25% . (B) 30%
(D) 40%

" (C) 35%
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9. In given parallelogram ABCD, values of x anc

indiresult.in whatsapp - 9352018749 h
(68)

p

9

3

dxiy 1502
(A) x=25%y=125° (B) x=125%y=2%
(©) x=15°y=30° (D) x=30%y=15

R R wr g ABCD #, x 3t y F A wOHE ¢

- e m——

(B) x=12.5%y=25°

- (A) x=25%y=125°
(D) x=30%y=15°

(C) x=15%y=30°

95.  Kabir buys pencils at the rate of 11 in T 10, He sells it at the rate of 10 in ¥ 11, His profit
’ in percentage is equal to )
(A) 10% (B) 11%
(C) 20% (D) 21%
mno&uﬁaﬁﬁfaﬁm%l%?uﬁmﬁatﬁs%iaémélmm
Y T 2
(A) 10% B) 11%
(C) 20% (D) 21%
5 5 4 _125
96. lfr+6+7+9 2776 " then x is equal to
@ 1 247
. ® T2
349
(©) 126 (D) 2

5 5 4 125
ﬂﬁtw +9 2126 T e 3

indiresult.in whatsapp - 9352018749

(A) 1 247
349 B T2
© 726 (D) 2
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97, In given circle, value of @ is equal to

(A 35" - -(B) 45¢
(€. 35° (D) 65°
fRRgE, 0% amava2

(€. 3% (D) 65°

98.. Out of following which statement does not show nature of Mathematics ?

(A) Mathematics has its own language from which formula, concept principle are
derived. ~

_ (B) In Mathematics there is scope to explain the abstract concept.
(C) In Mathematics area of Generalization is narrow.

(D) Numbers, places, measurement are base of Mathematics.

fraferfiga & & S @ %y v 6 yHfa wTd gntar 2 0
(A) i Y syl sy gieft & foress e B 4, e, Rrgra i sfre R s 2 |

(B) ifore F v el oh SUTEAT 1 HEH B R |

indiresult.in whatsapp - 9352018749

() v & Ao % 8 HHTA AR |

« (D) wwAT, T, "9 3G AT HURR |
@mnmsuma
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“The progress and the improvement of Mathematics are linked to the prosperity of the
State.” This statement reflects which value of Mathematics ?

F
99,

(A) Social value of Mathematics .

(B) Moral value of Mathematics INDIRESULTE

FEUR BUCEIEE FPARTHMES

(C)  Artistic value of Mathematics
(D) Disciplinary value of Mathematics

v i 3= T gfy 2w @ wafm @ 9w 69 0 & BE @ e
wefifa wea R 7

(A) i = wvfe g
(B) iftre @t Aferes qeu
(C) ifdra 3 wetrens qog

(D) TV % sremEATEE g

100. A device for finding out what pupils understand and can do with a purpose of adapting
future teaching to the needs of the individual or the class is known as

(A) Summative Assessment

(B) Informative Assessment

(C) Diagnostic Assessment

(D) Testing .

e Tt Ao St 3R A v e 5 el e wnd ¥ siosm smmwom @
foan =1 wh foh s it =fder s o7 i savashar % sER e 5 gy @ @

H%’ e '2: indiresult.in whatsapp - 9352018749
(A) FRTIHS T
(B) YEATHS e
(C) T sTwem

* (D) e
(#)NoiResuLTE
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102.

(A)

LOOking iﬂ pupﬂ’ ,
S answer books
as they are workin
g

(B) -Listening to pupil’s ¢ alki |
A n : .
discussion, & to other pupils as they explain the work or engage in

(C) Monitoring responses to teacher questioni
ing,

(€) mm@"ﬁwﬁwﬁﬁm%wmﬁqﬁﬁml
(D) fearenfelai it se—gftematt 1 s w37 /i wem o |

All teachers are encouraged to use precise mathematical vocabulary, and to promote the

use of mathematical vocabulary among pupils this vocabulary is known as

(A) Language in Mathematics Education

(B) Values in Mathematics Education

(C) Correlation in Mathematics Education

(D) Tools in Mathematics Education

wf m@@wmm%m%@mmmz 3 ferenial %
mmmﬁgmﬁﬁ,wmﬁﬁmm%

indiresult.in whatsapp - 9352018749

(A) ifvrg fvegor § WTS1

(By iftre firerer & 454

(C) v faveqwr  wEE

(D) for fgor & 2T
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103. Out of followmg, which statement is not correct with regard to characteristics. of

ST

FEUR RHCEIER Ji.!'l'll

(72) @INDIH SU

Mathematics ?

(A) Mathematics is called the Science of logical reasoning.
(B) Mathematicsisa way to settle in the mind a habit of reasoning.

(C) Mathematics is not a abstract science.

(D) Mathematics has béen defined as the Science of number and space.

1 ol v e R R T o i < R <) - e gt 2 2
(A) ifore feramd <1 anfehes fagm 2 |
(B) o wepsa % wftersss & aeh o ned ) @ HTHPR |

(C) iforer anyd fagma T 2 1
(D) ifore &t wE v == % fawm % sy f ufvnfvd e 2 |

104. To know the nature and characteristics of error took place by students while solving the

problems of Mathematics is known as

(A) Content analysis in Mathematics

(B) Error analysis in Mathematics

(C) Content synthesis in Mathematics

(D) Error synthesis in Mathematics

feranfaf grer i wmweaait 3 et 35 e 1 T el el <) e e P
%1 S i HTsRT i HET AT %'

(A) T & fereran Fareetawr

(B) ore  4fe: fereetayy indiresult.in whatsapp - 9352018749
(C) for # fwereg "oy

", (D) wifore #§ Ffe deetm
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1 S’r.‘ (73) !H!DIIEIEIIF Jahuﬁ F
Situation presented by
1% new topic is known a:’ cacher in the classroom to find the attention of students towards

(A) Previous knnwledgc

(B)  Introduction
(€) Statement of aim

(D) Ideal question

ﬁm%!ﬁﬁﬂﬁﬁmwﬁmﬁ :
* = & I
arch SRR 23 e e aregmes g S wE=d

(A) ‘(«fim . (B) wEmE

106. Out of following which statements does not shows best principles of curriculum

construction in Mathematics ?
(A)  €urriculum of Mathematics should be child centered.
(B) Curriculum of Mathematics should be activity based.
(C) Curriculum of Mathematics should be lugical'l y &'psychologically arranged.
(D) Curriculum of Mathematics need not require teacher acceptance.
fFrerferfian 3 & &t w1 = wfora % s flor 1 st aw & 7@ i R 2
(A) IO = argasn el &f3a e i |
(B) i w1 argussy fean s @ =i |
(C)  TTTova 1 ITggshs HATATI U difchah &1 ¥ sgafeda g SnfRu |
t)D) fora w1 arguEET T HeATyE A weEta H e T8 e |

107. Out of following which is not best way of knowing the weaknesses of the students in
Mathematics 7 ”
(A) Asking questions inside or putside classroom,
(B) Oral work.
(C) Analysis of answer scripts of students.
(D) By comparing students
Frferfige i & =i ot fafty frenfefa  nfor weell il s 6 st fafa i @2

(A) Tererfeiat = e 5 3F2C T WEC A HA |
(B) ma‘ﬁ indiresult.in whatsapp - 9352018749
(C) Trenferai $ se-gfevemai w1 favesw
@D). ferenifall # e 0
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number is divided by smaller

F  jndiresultin whatsapp - 9352018749

108, T
. wO W »
" hole numbers are given. If three times of larger
mber, then 4 as quotient and 3 as remainder are obtained. If seven times of smaller

Mumber is divided by larger number, then 5 as quotient and | ‘as remainder are obtained.

Smauer number is equal to
(A) 25
(B) 18
(€C) 36

(D) 50
2 ot st & & 1 s 5 o w9 oY e & R Fa s & 4
4 3R e 3 wre B 2 3 B e & wra 7 1w we & fufo fear s d |

WIS S 3R B 1 9T B R | B s s

(A) 25
(B) 18
(©) 36
(D) 50

109. Sum of place values of 7, 6 and 9 in the number 17065809 is equal to

IV(A) 706009
(B) 7006009
(C) 7060009 -
(D) 70060009

é\ HEIT 170658097 7. 6 31 9 % S T 51 A

(A) 706009 indiresult.in whatsapp - 9352018749

(B) 7006009

(C) 7060009

(D) , 70060009
jINDIRESULTE
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110. If .the tollo.wing fractions are arranged from smaller to larger fraction, then which fraction
will come in the middle 2

1 3 0.909
,T3W6]003U'*;*

.
—

BT © (B) 0313
©) 31% (D) ,0.
afe e B ) Bt & adt o ) s st e w2, A A 2 s e
It 7
- ;hm.,oom us;oo
(A) 9%92 (B) 0313
(C) 31% D) _l%

1L If 9x76
~-x6y9
3yy7
then values of x and y are equal to
(A) x=9;,y=3 (B) x=3.y=9
(C) x=5.y=8 (D) x=4;y=8
ﬂ& Ox76
-x6v9
3yy7
W x 3y % e e #
(A) x=9;y=3 (B) x=
(C) x=5y=8 (D) x=

112, Mr. X has ¥ 55.600. He invested it in a scheme and got 8 times of his amount. Then he
donated ¥ 57,986 to a trust. Again he invested rest amount and got only one third of it.

Now Mr. X has amount equal to
(A) ¥1,28.938 (B) 129,838

(C) T1,28.948 (D) ¥1.29.848
st X % ure 7 55,600 & | T 38 wh Ao & Fraw fean o 3w® v w1 8 v fwn

et 303 7 57,986 T HeT I g R | I 3E w gan o P R s et e
e firerd wrea 64T | 37 X % U YA EUSR  indiresult.in whatsapp - 9352018749

(A) T1,28.938 (B) ¥1.29.838
*(C) T1,28,948 ' (D) ¥1,29.848
INDIRESULTE
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fls. Fare 76 INDIRESILIE ST-1
Bular polygon has 9 sides, then each exterior angle is equal to
W) 2 B) 40°
i D) 160°
R 0w g 1 9 3ot &, ek e WO R
(A) 36° (B) 40°
) | (D) 160° ’

114. Perimeter of a square is 144 cm. If area of a rectangle is equal to the area of this square
and length of rectangle is 81 cm, then difference between length and breadth of rectangle

1s equal to :
(A) 16cm (B) 64cm
(C) 65¢m (D) 36cm

U w1 w1 aRuTg 144 3R ¥ | 2R v a1 AEGe 39 @ % SAB F T § AU AW
& wraTs 81 At R, A1 31rgd Y e aun Srerd § o e 2

(A) 16 @t (B) 64 3ft
©) 6s&d (D) 368
115. If H.C.F. (408, 1032) = 1032y — 408y and x + y = 7, then (x — y) is equal to .
(A) 3 (B) -3
(€ 2 (D) -2
AR A.H.T. (408, 1032) = 1032v - 408y W x4+ y = 7, Al (v — y) T B
(A) 3 (B) -3

(C) 2 (D) -2

116.  An examination is being conductéd of three subjects Science, English and Mathematics
having students 60, 105 and 135 respectively. Sitting capacity of each room is same. Also
each room has students of only one subject. Then minimum number of required rooms is

equal to
(A) 15 * (B) 20
€ 25 (D) 30

60, 1053ﬂt135mahré?ﬂqﬁwﬁm:ﬁan,aiaaﬁﬂmﬁmmmm
%mmmtlmwﬁﬁaﬁﬁmm%tmmﬁﬁ%ﬁwam%mt
@ mm‘ﬁﬁwmm% indiresult.in whatsapp - 9352018749

(A) 15 (B) 20

() 25 (D) 30
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¥, | ]
g i aiven tiomnde AR ™ INDIRESULTE *
11 n (] C AP bi ’ FEUR EHCERSE FARTMEE
: £PAQ is equal to 's bisector of ZBAC and AQ is perpendicular to BC, then

Bm\
Q p C
" ®) 40
. 1% (D) 25°

fea m g ABCﬁ AP, ZBAC %1 wufgaras & aun AQ, BC W B, A LPAQ wUR ¥

75° s
B/VN’\A
Q P ~

(A) 20° (B) 40°
(€) 15° (D) 25°

118 In given triangle ABC, OB and OC are bisectors of ZB and £C respectively, then £ZBOC

is equal to
(A) 70° (B) 110°
(C) 140° (D) 80°

2 m finge ABC H, oaaﬂzocm- /B 3R £C % wuigurs €, @ ZBOC wut R
indiresult.in whatsapp - 9352018749

A .

(A) 70° (B) 110°
* (C) 140° (D) 80°
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en wh:ch one o ';-

m, th
119. Sides g4 and DC of quadrilateral ABCD are extended as per diagra

-
ko

the following is true

(B) x+y=a-b

Xty
(D) .Lj_lza-b

-

120. A student’s mark was Wm"g'y entered as 108 instead of 98. Due to this mistake, average

(€) 50 (D) 70

wm%wosﬁmmsg&ﬁaﬁmz‘mﬂlwﬁ%mw%m L
3133

T2 | e & BTl ) T HeT w2

A 0 indiresult.in whatsapp - 9352018749
(A) 1 (B) 30

" (O) 50 D
INDIRESULTE N
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ENVIRONMENTAL STUDIES  qRTERuT JEAIA

There are 3¢ questions in all in this section.

All questions are compulsory.

indiresult.in whatsapp - 9352018749

SHEEiHa 30w E | C/
aft v st § )

@ 121. Which is the state bird of Rajasthan

(A)
(B)
(©)
(D)

Great Indian Bustard

Peacock
\{'ulturc

Crane

e &1 054 gafl | a7

(A)

&)
(©)

e
R

firg

(D) €#|

122. Which is correctly matched ?

(A)
(B)
(C)
(D)

Bombay Natural History Society
Botanical Survey of India

wildlife Institute of India

National Botanical Research Institute

() gD a:m‘ﬁam '
(D) Wa"‘“ﬁ‘ HW |nd|result in whatsapp - 9352018749
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New Delhi
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123. Which of the following is not a source of renewable energy 7

(A) Fossil Fuel (B) Hydro Electricity
{1 (C) Wind Energy (D) Solar Energy

@ Frafefaa § & # @ Fdiewoia swt g @ 2 2
(A) Sirarw = (B) vt faga

(C) . & FHa (D) dR e

124. Who coined the term ‘ccosystem” 7

| (A) Haeckél (B) Humboldt
(C) Tansley (D) Odum

i g’ ree &1 1A T fepan 7

’ (A) #a (B) ®watee
(€) Zmet (D) e

@ 125. Which place of India has highest rainfall ?

(A) Bengaluru (B) Mysorck
(C) Srinagar (D) Mawsynram
T w1 Gaifie 9] aren WE S EIR 7

indiresult.in whatsapp - 9352018749

(A) STEE (B)
(C) b icuct (D) wrfgs
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" .?ST. Biotic component of & g
126. ent ot environment includes B |
- G /L
(C) Plants (D) Water :
m%ﬁﬁﬁmﬁﬁﬁr&ai
(A) Wy | (B) amg
£(©) (D)

127. Minamata disease is related to which of the following ?

(A) Cd pollution (B) SO, pollution

© (€) Hg pollution (D) Noneof these

ﬂ?mﬁnwmﬁwf%ﬁaaﬁ@m%?

(A) Cdweso (B) SO, wewm

(€) Hg¥gsm (D) 8 & s 7

~.

128. Which one of the following is non-projected teaching aid ?

(A) Film strip (B) Chart

(C) Epidiascope (D) Slide

Prforfiaa 3 & srwafa freor ot # @ R 7

indiresult.in whatsapp - 9352018749

(A) e R (B) =

[(©) o fornees 97 (i) (D) WES
-INDIHESULTE )

FEUN FWEEIER FARTRER
%
il
L S



L wr

indiresult.in whatsapp - 9352018749 . y Y

F ' w
s (37¢)INDIRESULIE ST

FERUR BUCEDIEE FARTRES

129. Which one of the following activity is not related with environment consetvation 7
(A)  Deforestation

(B) Conservation of natural resources

(C)  Massive plantation

(D) C leaning of waterbodies

{4 Pt i & w it wata s & arafEa @R 7
(A) S
(B) WTehfeeh HETYA 1 L&
(C)  F&e Py

(D) st i w5

130. In ehvironmental education which teaching method 1s related to group discussion ?

(A) Role play ' (B) Lecture
(C) Narration (D) Sympoesium

qfarcer Rvet 3 e i & e fe Ry @R 7
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(A) mﬁwﬁafe (B) =HEEH

; '(C) quid (D) Te=m-Td
INDIRESULTE

FEUAN FWEEIEER FPARTRER



indiresult.in whatsapp - 9352018749

1 : . ‘ :
ST ' (83) ‘ INDIR !‘!!‘“E . ¥

FEUR BEECEREER

1. The main aim of C
13 ) Ontmuous and Comprehensive Evaluation (CCE) is
(A) toevaluate ev
€Ty aspect of the child during their presence at the SChOO‘

(B) to evaluate th
€ interest of the child during their presence at the school.

(C) to evaluate knowled
hoot ge and comprehension of the child during their presence at the

D) toeval
(D) uate the skills of the child during their presence at the school

@m@mmwmémg@@m
(A) mﬁm%mm%mmmmmx
(B) Terererar 3 3ufRefiy 35w sreres 0 iy 1 e s |
(C) mﬁmﬁ%mm%m@mmmmu
(D) mﬁm%mm%ﬁWﬁmmml

132. Full form of IEEP is

(A) International Environmental Education Project

(B) International Environmental Education Programme
(C) Indian Environmental Education Project

(D) Indian Environmental Education Programme

IR 3.5 f. i Ev R

indiresult..in whatsapp - 9352018749
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(B) IWVAE THEHEH Ty T
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133." In order to access the students’ academic achievements of teaching environmental studxesv

which of the following evaluative indicator should not be used ?

(A) Observation.

(B) Discussion

(C) Experimentation |

(D) Remedial teaching A ‘

mmm%mﬁmﬁﬁﬁmmﬁw%mmﬁﬁm
ATHeH g o1 Jan T& feman s =nfe ¢ :

(A) e Bl y

(B) aafm

(C) wam T

(D) I9=RIH TeEr e

134. Wi
(A) Good teaching is based on activity.

(B) Good teaching is democratic.
(C) Goed teaching is not value based.

(D) Good teaching is planned with definite aim.
frefafaa o & #17 o fastvar s g Hradi 2 2
(A) 3veaT freqor foran smaTf@ grar 2 |
(B) 3reat e eitshar=e g & | |
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35. Which one of the follow; ... 4
@ Owing choice is not included in the content of environmental study ?
A :

136.

(A): Forest conservation
(B) Political conservation
(C) Water conservation

(D) Soil conservation

ﬁﬁmﬁ‘ﬁmmﬁmwmﬁmﬁmqﬁﬁmm?
(A) o HEor '
(B) Trstiferes dagror

(C) T HL&o

(D) &1 HE

Which one of the following law is not related to the trial and error theory of learning ?

(A) Law of reinforcement
(B) Law of readiness
(C) Lawof exercise

(D) Law of effect
' indiresult.in whatsapp - 9352018749
wrafrd T8 & ?

(W a) e e

(B) e 1

(€) 3 & FaE
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" (D) S
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137. To prevent child labour in India in which year the Child Labour (Prohibition and Regulation)

Act was passed ? -

(A) 1938

(B) 1988°

(C) 1986

(D) 2017 |
@)Wﬁm oW %1 Sfosfed w01 & forg are o (P o fafeem) wfufam fea od § s

o a2 |

(A) 1938

(B) 1988

(C) 1986

(D) 2017

@ 138. What is the minimum legal age of marriage for girls and boys in India ?
(A) 16 years and 18 years
(B) 18 years and 21 years
(C) 18 years and 18 years

(D) 21 yearsand 21 ’ycars
YR H TSRl 7 gl & forarg i aaw S s g 7

(A) l16Tdud |8 ‘
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(B) 1899 wH 2] af

(C) 18adud 189¢

*(D) 21adgg2lwd
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. @ ‘3’- name of ‘tﬁxti]c City’ ofRajasthan 3 FEUR FEVCEIEE FARTMEN . ~
(A) Udaipur (B; N il
Jjmer
(C) Sikar

(D) Bhilwara
TS 1 g8 TR

4) R ' (B) 3yt

(€) My (D) . sfrerarey

140. What i : :
s the name of medicine commonly used to control the addiction of narcotic drugs ?

(A) Folic acid . ~ (B) Cocaine

(C) Ascorbic acid (D) Pethidine

eIt Gt At o i Freifira F0) g s g s 6 9 areh s w2 2

(A) BifeTe 375 (B) wihH

(C) UEnilee 370 (D) Hfirdm

141. Which of the following is declared as 100% Open Defecation Free (ODF) State ?
(A) Andhra Pradesh (B) Assam

(C) Kerala (D) Tamil Nadu

frforfea & @ w17 31 100% T § 19 g9 (3dhes) a2 7

(A) 3y wew (B) 31&H |
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; o S jasthan is
142. The total number of Member of Parliament in Rajya gabha from Rajas
(A) 10 (B) 25
(C) 35 (D) 20
TSTEST % T W91 FiEal g,-a gE 2
(@) 18 (B) 25
© 35 D) 20

143. Who discovered nylon ?

(A) Melvin Calvin (B) Wallace Carothers

(C) Robin Hill (D) Peter Mitchell

el o1 anfassR e fear 7
(A) ufega Hfeaw (B) arard HUud
(C) tfem f&= (D) e fosie

@ 144. Which of the following is not related to Rajasthan ?

(A) Beneshwar Fair | (B) Pushkar Fair
(C) Khejarli Fair (D) Magh Fair
frefafad d @ S 91 ToRgH & geafE @ 2
(A) SOTECHA (B) o e
indiresult.in whatsapp - 9352018749
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145, When did the first passenger train started in Indig o ;
: a7 L

(A) 1920 (B) ]856 @Iﬁluplﬁ:lillﬁl:ﬂrl4 )

(€) 1853 (D) 1959

a H W A Yo 4y O Fa g 7

(A) 1920 (B) 1856

(C) 1853 (D) 1959

@146. What is “Pisciculture® 9

(A) Bee culture (B) Fish culture

(C) Poultry culture (D) None of the above
forefteresr Fn R 2

(A) HYFFRE! I (B) WS 9o

() it wrer (D) I & & T

147. Jhamarkotra mine is famous for

(A) Copper (B) Rock phosphate

(C) Zinc (D) Uranium

IS EeH 91 @
(A) e (B) Tieh HIEHE
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atagious disease ? @!NWHE 1

@ 148. Which of the following is @ €0
(B) Heart attack

(A) Diabetes
' iphtheria
(C) Hypertension (D) Dip

frferfiae § & 9 &1 O GFTH & 7
(A) TYwE | (B) ECATH
(C) I=-TE=EN (D) %mﬂﬂm

@ 149. Which of the following test is directly related with HIV 2
(A) Widal (B) MP
(C) ESR (D) ELISA
Preforfiae & & i |1 e o & yeas GrAfAa B 7
(A) faem (B) uHdl
(C) FEAR (D) ufem

In which year pulse polio immunization programme was launched in India ?

150.
(A) 1985 (B) 2005
() 1995 | (D) 1990
YR & vew Tiferdl Srehrehi s e e b w2
indiresult.in whatsapp - 9352018749
(A) 1985 (B) 2005
" (C) 1995 ' (D) 1990




